Raniganj coalfield is situated in

(A)  Odisha (3 West Bene! '
(©)  Madhya Pradesh (D) Tharkhand : :
(E)  Question not attempted 3
TS Fradies # e , B
(@) shfem (B) S 3
(© waww (D) nEs j;,
(B)  orguiaws _ L L
2 Which of the following statement is not correct about the Khetri Copper refining p g
(A)  Itissituated in Bikaner district of Rajasthan. =
(B)  Italso has a Sulphuric acid plant and a fertiliser plant. g
(©) Itisan integrated Copper mining-cum-ore refining plant. i —
(D) It obtains copper ore from the Malanzkhand copper mines. : k-

WA

i PR
s e A AT e St B i, TS

(E)  Question not attempted

ﬁw%%HMﬁ%aﬁwmm@aamm_m%ﬁaﬁﬁwiﬁ?

wodabe- b

(A)— T TSR F st ey 3 R 21 it
(B) ST U Tierehiar dommer Wi 3T ety gt ot 2) &
(©) 7 T i e GH-HE-3Th I 6o 2
(D) % TeioTEvE ST W &, AT S ST T 2 B é
(B) 3maRaw -
3 Which of the following is a brackish water ﬁsh?‘ i ;f ¥ f
(A) Loach (B) Rohu T
(C) Perch (D)  Pompano '
(E)  Question not attempted ke
S NN AT [ |
a) = ®) .
© wd © W o
(E) Srgafiayd g
4 Find the number of coins, if each coin is 2.5 cm in diame . . B
cylinder of height 10 cm and diameter 5 cm, sedit St thick, to be melted to form a right i

afe sfe o 1 =9 2.5 A AT 0.2 8 3 o o ey
Forer foraet ot Rerertar €172 e s Aifvry

(A) 200

) 50

(E)  Question not attempted / 3Tala uy

5 Internal length, breadth and height of a rectangular boy are § em

(B) 250
D) 100

; m,6¢
How many boxes can be packed in a cube whogse volume s Bdn Mand 4 ¢y, reSPeCtlvely
. cm ?
TR fear i avard, digrd ot S wmy.
qa.ﬁ foreny €17 I g ‘m, 6 ¢y aﬁ~(4 om® 514 A : ﬁﬁ
4 em’® e 3 v 3 Fret
uq
A 28 : ® ,
©)7 32 ©) 4
(E)  Question not attempted / 3T Wy 36

A17]3 2



@ If the word “MATHEMATTICAL” is spelt with “N” in place of “MA”, then the percentage rcdumn in the number

of letters, is: )
“MATHEMATICAL“ m*éﬁ AR “MA” ¥ Tarr e N ferear s Y sverdt Y s  frat wfora %‘% S iy
() 153 29 &7__*; (B) % o
Ca 2 O
€ 20% ™ (D) 16 5 % : [
(E)  Question not attemptéd / e wer i

‘ 7 A lent T 600 to B for 2 years and 2 200 to C for 4 years on same simple interest. He reccived all together from both,
y p
} ¥ 100 as an interest. The rate of interest is
‘A’ R HT 6003 k Pvrqaﬂt o) ﬁzzoowaﬂ%%qmmmnﬁmaﬁ{%gvz 100 =971 |
ST §3 T m-atsrmrﬁﬁm
o () (}’J
(A) 4 A) m (B) 8% m
© 1% o D) 5% o
(E)  Question not attem‘Pt‘Sd / Frgata w1 o
8 Animal Husbandry COIltrlEutes around __ share of agriculture sector in Rajasthan.
(A) 3/4n =i : (B) 1/5% ™ §
(© 1/4% D) 1/34 '
(E)  Question not attemgtcd _ (s8]
Wﬁmﬁﬁﬁm@ww e arEE 1 o
(A) 3/44i m ; ®) lsai 0
(C) a4t 8] (D) 13t ™
(B) rgaRawd o o
Indira Gandhi Canal has been built on the following rivers : o
(A) Sabarmati and Parvaii , (B) Beas and Satluj :
(C) Mahi and Chambal - (D) Sonand Banas
(E)  Question not attempted
S rieft e ey 3 & forg AR T s T 37 ™)
(A) WTEHd T aEd O (B) = Ud HaGS ()
() wEwEsdsm 00 (D)- G T O
(B) SERE@Td ) ™
10 The state of Rajasthan prﬂces around % of the total wool production in India. 8
TR TSY NI A Fed 3 2 Femn o Sere e ) I~
(A) 40 i (B) 30 -
(C) 60 (D) 50
(E)  Question not attempted / FraRa 9g
11 Which Regiment of the 14dian Army did Major Shaitan Singh belong to? ™M
(A) Madras Reglmentm (B)  Kumaon Regiment 8
(C) Dogra Regiment o0 (D)  Bihar Regiment ™)
(E)  Question not atte pifd o
Srorc v R sreeer 3T e o 3 7 P
(a) wEE R [ (B) Fuh iﬁrﬁz. [~
(B) Fgar@ws

AT ' 2 " [P.T.O.
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12 Given below are two statements:

Statement (1): Agrarian movements of Rajasthan before independence Were led by non-farmers. Jf
Statement (IT): The movement in the Ganganagar arca Was ed by Y.N. Handa, 2 Communist leader, : E»i
In light of the above statements, choose the most a[’l’ropriarc answer from the options given below., A‘,;
(A)  Statement (I) is correct but Statement (I1) is incorrect. i
(B)  Statement (1) is incorrect but Statement (11) is correct.
(C)  Both Statement (I) and Statement (II) arc correct.
(D)  Both Statement (1) and Statement (IT) arc incorrect.
(E)  Question not attempted
U (I): mﬁ%énwm%waﬁﬂﬂﬁmﬁﬁﬁt-ﬁmﬁﬁﬁw Ll
S (IT): T i s AT 7 el T e A . g 37 90 R T
ITAH HUA F mﬁ,ﬁmmﬁﬁﬁﬁmwm%ﬁl
(A) T (1) TR S e (1) TR B ®) e (1 e & A e (1D T €l
(C) A (1) MR (1) 3T E &l o) F (1) fF (D) 2T & T 2l
() = ata A
13 Where is famous Sela pass located through which road connects to Tawang?
(A) Assam (B) Meghalaya
© Arunachal Pradesh (D) Sikkim
(E) Question not attempted ) ok
g e et e & i o v & T 2
(a) @ ' (B) T
(€ e el () b
(E) guRa s
14 When the government spends an amount equal to the revenue that it collects, it is known as a:
(A) Balanced Budget ‘ (B) Equal'Budget ‘
(c) Deficit Budget (D) Surplus Budget ¥
(E) Question not attempted ' G
aamzﬁmwﬁam%swuﬁrmwﬁ%,wmm%:
(A) 'g@ﬁi’a EEA (B) WAMESE
() TRFH T (D) R awe
® @I , o5
45  Who among the following 15 the author of the’General Theory of Employment, Interests and Money’s reg“d
one of the most inﬂuemial books of the twentieth century? ; : J
(A) Kenneth ATV (B)  Friedrich Hayek H
(C) Robert Luce (D) John Maynard Keynes ,
(E) Question not attempted ' , M
ﬁﬂ%‘mﬁm'W'Wﬁw%wm*w*m%ﬁammﬁmﬁm |
A) Fa (B) el g
© TRIT (D) St g =

@ T

Al7 ]@
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Who among the following is known as the father of Green Revolution in India?
(A) Hiralal Chaudhary (B)  Sam Pitroda

(©) M.S. Swaminathan (D)  Verghese Kurien
(E)  Question not attempted

frafoRaa & & oy v A e swifRY vt Stas s T 22

A) SR Sl B) & fiirer
(C©) . uH. @ rfiAee (D) affa FiEa
(E) SguRaws

What percent of the Indian population was dependent on agriculture for their livelihood at the time of independence?
(Choose the most appropriate option from below)

(A) About 65% » (B) About 60%

(C) About 85% (D) About 75%

(E)  Question not attempted

AT % T WA 7 Rl it srreree st syrsffien 3 R i e it sfty (e i & s suges e )

(A)  65% =T (B)  60% T
(C)  85% @M (D)  75% T
(E) SIguiaus
Sraaar ¥ S ara R
A) =% (B) HHURT
(C) wivE (D) wghfe
(E) Igaiawx
I F SqE B-
A) = B =q
© = D) ==
® sehass |
TR WK H T #-
(A)— T ® =
© = D) &
(E) ARausd
Frferfia & & -8 W12 GE0 F wataareh wreg e 87,
o BTt ; b. Ean
.. T d. it
et W
1 fu T farrcdt 8 & waffares ITg SUCH 94T AT .
(A) FaAcae (B) Faetd3ia
(C) Fada3Mb (D) FE@bIRd
(E) Igafasa
frerferfaa 1 Y@ e &-
R e— b, WX
C.r :;@ d: b
e. ~ A
3 foq T fred # & waifies I ST :
) ¥acrasitd : (B) ma,caﬂte
(© Faw@asic B @) FEcfte
() - FgERaA q

AI7)B | 2 , | [P.T.O.




23

24

25

& 1‘:
ﬁm%mﬁgaam% o %mqﬂ%l ;

a. M éa’n
e 210 ufx

c. a%amwhﬁamaﬁzml % TN H

e.xyr Wﬁﬁ,ﬂW%l P
<R3 fo e feeeit At e S Y o
(A) Fad caiter™ @) Fadadey e
© st (D) Facta3itc -’
(€) SeRa s B
Given below are two statements: , ™
Statement (I): Sansi(is Nomadic tribe mostly found in Bharatpur district. o)

Statement (11): Thc(\:l) division of Sansi are Vija and Mava.

In light of the above f tements, choose the most appropriate answer from the optldﬂé";glven below.

(A) Statement () js uorrect but Statement (II) is incorrect. (>

(B) Statement (I) iS"incorrect but Statement (II) is correct. ;32

(C) Both Statemeft'(I) and Statement (II) are correct. il i
T

(D) Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted

19 2 o Rume & oy X8

FU (1): el U GHpeAe 8, S 6 ea: wﬁéﬁvrésmﬁ%l .
T (I): T ST 3 e S T et 8 g%
i et s et A R Rt & e g s o
(A) o (1) W€ R F (1) T 2 (B) M (I) T & AT (1) T
©) = () i () A ad & ®) W(I)aﬂtwalaﬁzﬁnm%l
(E) SEf@ud v _ S §

Given below are two statements:

Statement (I): The Ghambal project is a combined project by the Madh

ya Pradesh State and the Rajasthan state.
Statement (IT): Mahi-power project is located close to Udaipur in Rajasthan.

In light of the above Statements, choose the most appropriate answer from the o

tigns,gi |
(A) Statement (I&s)poncct but Statement (11) is incorrect, P Qggwen below 2
(B)  Statement (I)jSincorrect but Statement (11) is correct, o

(C) Both Statemént (1) and Statement (I1) are correct,

™
(D) Both Smu:ml-‘(l) and Statement (I1) are incorrect, o
(E)  Question not attempted
Hra & e faw o E¢vy _
&Y (I): mmmmmmxwmﬁ " i g
T g v ﬁ?m%u i 00
_ﬁmwﬁmﬁﬂwmmiﬁl m
il e e an wer
€ Ftawa v ) w1 atve s rf € T &

[ P.T.O-
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Which of the following writs is issucd by the supreme court to prevent an inferior court from usurping jurisdiction,
which is not vested in it? -

(A)  Prohibition (B)
(C) Mandamus (D)
(E)  Question not attempted

Freferier st & st et e et =rrarera g s 6 Sl #, i P srarere 5 =rnfiT 80 3 ST R emdt & T
S e avferaT 3 ffa i 2

(A)  wiy (B) =i s

(C) WHRY (D) S @fdeatdh

(E) i@ ws

“Blue Revolution™ is related to: (Choose the most appropriate option from below)

(A)  Flower Production . (B) Milk Production

(C)  Fish production (D) - Fruit Production
(E)  Question not attempted

freft shifer wsifera &: (R o & wor sogen e o)

Habeas Corpus

Certiorari

(A) FAIARTH (B) TUIEEAY
(C) v AT d , (D) A S H
(E) 3rgai@x
Which problems are being faced in human capital formation in India?
a. Rising population b. Brain drain
c. Deficient Manpower planning - d Low Academic Standards

Choose the most appropriate answer from the options given below:

(A) a,bandconly. (B) a,b,canddall
(C) aandbonly. (D) bandconly.
(E)  Question not attempted

T F Are geft fmtor 3 s o wed o w €

a, SgdivHEET b. ST R
c. gty SHIIh FRE d. e e amew
T fau e forenedt & & wrafferes IUGT SR :
(A) Fada,b3iRc (B) ab,c3 dwh
(C) Fadasib ; (D) FAb3Nec

(E) Srqai@uy ‘ &
The main objective of ‘CHAUKA SYSTEM’ of Rajasthan is to ’
(A) Manage Water Resources in Water Stressed Regions

(B)  Manage Food System in Rajasthan

(C)  Support Bee Keepers

(D)  Increase Animal Husbandry

(E)  Question not attempted

— TSwAr o < e @ e s R

(A) 9 it Iqcrewar AT A1 § U & daruEt a e Fe

(B) TS H wfrsi goreft &1 Je U FT1

(C)  wywd qreTHt Y qEANT FT

(D) 9] 9TeH Y SQET -

(B) orgafa wa

A1 ‘
ATIA ki [PT.O.




30 ‘Taanka’ is a tr‘iglitional
(A) Animal é\}sbandry
©) Agriculw

(B)  Agro Industrial Work tem

technique common to the Thar desert region of %asthan.
D Rainwater harvesting
- 0

(E) Questio(lm;m attempted ) m
TTE & A e A A Ffa e U I dFAT B
(A)  IYIEHD) B) FHu ienfies Fd
© FR ™~ (D) ul I TR ~

s (E) Tgafaws i

g@/ The percentage of area under cultivation in Rajasthan is around
(Choose the most,appropriate option from below) 3
Trreer 3 et A e wfeere &1 (Frer & & oo suge e g )
A) 5% o B) 60% 8
© 45% D) 51% pod
(E)  QuestiodTot attempted / 374 I o
@ When a commddity is sold for ¥ 69.60 there is a loss of 25%. The cost price of the corEBodity in ¥ is:

ST T SR Bl £769.60 T SIS SITAT.8 it 25% T1f e 81 3 1 <ATa e ©9 3 @ d
(A)  T94.80 v{ , (B) T90.20 = 3
(C) <9280 (D) T88.80

(E) Questiomot attempted / 3T T4
@ A batsman ma@ a score of 90 runs in the 17t inning and thus increases his avera%y 3. Find his average after

17 inning? Q0 o0
- (A) 40 RunY) ; (B) 42 Runs ™)

(C) 44 RunD (D) 38 Runs o

(E) Questiogot attempted O

@ac—v‘mmaﬁ}ﬁmﬁ 90 T T TR AT B Fored Igeht e 3 =g STar 7 Il F 18 I I|a

1a e _ L '

(A) 40W B) 442

C) 44@ L~ m S 38
© ™ ¥ & D) ™

®) R » |
1\%\ theratio 2 : 1, If each saves

@ The income of¥ir. Dhull and Mr. Hussain are in the ratio 7 : 4 and their expenditure

% 10,000, then{My. Dhull’s expenditure is: )
o, e ST ARG 1 T T S 7 2 4 Ko T S 2 ¢ 1 AR 5 X 10,000 s ww E 40, vt §
(A) %70,000™ (B) 75,000 I~
©) 260,000 D) 265,000 i
(E)  Question not attempted / 3T 54
35 Frffa wedt wf-feos w1 saded wad gl A e

a. —uft+0F bt P = +aw - )

C. =Hﬁ;+ﬁ'_a/ d.y W:;ﬂﬁ.;.mo

e. frﬁfrar-m'naa’ : , o0
<A1 o e e i 4 watfores 3 S ™M
(A) FEcelier - (B) ¥ada, b d 8
©) Falbresitd @) ¥weade gL
@ g -

8 [P.T.O.
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36  Which of the following organization functioning’ under the Ministry of Statistics Planning and Programme

Implementation, Go(\(g)mment of India conducts five yearly surveys of employment and unemployment?
(A) NSSA (B) SSP (48]
(C) NSS (&) (D) NSSO

(E) Question not%mpted -t
RA FUHT  WEABY, WIS Tl SHrefshe refearart Harery & mﬁmﬁ{mﬁﬁqumvn%am i AT <Rl
GeaTT HIET FATRD | o
(A) TITHTHT (NSSA) (B)*> wHuEdt (SSP) We) /
(C) TITHTH (NSB)- ‘ (D) TATHTHIAT (NSSO) [~
() IITARTIH puf
y7  What is the total income of the country divided by its total population called? (Choos¢ thmost appropriate option
from below)
(A)  Gross Incom€¥) (B)  Net Income o
(C) National Incéme (D)  Per Capita Income o
(E)  Question not{ftempted -
foret T oY ST T GRS et ST & R fre 5 ST B et R st e - (Rt %ﬁm 39 foreT 3)
(A) TERAIT O : B) FAIE o
©€) TEEIE O (D) Sfasahe o
() SERATH [~ r~
18  From which of the following funds all expenditure of the Government is incurred and no amount can
from it without the authorisation from the parliament? '

be withdrawn

(A) Public Account (B) Private Account
(C) Contingency*und (D) Consolidated fund ™
(E)  Question nofAttempted 3
Wﬁﬁéﬁqﬁ%%m%mﬁmﬁqﬁiaﬁIW%ﬁmgﬁﬁ%uﬁ:mzt’@:ﬁ?fﬁm
el 87 )
(A) drRTEr it ® frefiaa )
(©) amﬁ:ﬁrcnf%: R (D) wnfRa ffr -
(E) rgai@ysd ~ g
9 Given below are tatements: .

Statement (I): At the parliament of Religions beld at Chicago in 1893, Swami VivekanandTade a great impression
on people by his learned interpretations. The keynote of his opening address was the need for a healthy balance

between spiritualis d materialism. .
“gll he founded the Ram Krishna Mission. The mission stands for religjous and social reform.

Statement (IT): In
He was a great humanist and used the Ramakrishna Mission for humanitarian relief and so€idl work.

In light of the abovdthtements, choose the most appropriate answer from the options giv¢tbelow.

(A)  Statement (Imorrect but Statement (II) is incorrect. ™
(B) Statement (Imncon’ect but Statement (II) is correct. O
(C)  Both StateméniXI) and Statement (II) are correct. o
(D)  Both Statemént(T) and Statement (II) are incorrect. I~
(E)  Question notattempted -

FHU (I): T 1893 3 farepriy 3w enfilen wag o e fora e, et frdenre 3 arsfrgar qof e & sufked
At 3 SR T TSI I G m%g@ﬁgﬂ%_mwmaaﬂuﬁﬁmm%ﬁa@wwﬁ

ATTTIHAT 8l
o (I): 1897 73 mmﬁmaﬁwaﬁummﬁzﬁaﬁ{mwéﬁmm@aﬁ@ww
¥ 3fiT I T ,WWWWWWWWW%WWI 0
S AT 3 s, A1 fg g et i & wffe Iugw I g
(A) FUA (1) T e (11) e 2 (B) YA (1) TTerd & e e (et 21
(©) e (1) 3 et (11) AT |t & (D) Y (1) 3 AT (11) T Lwa 2
(€) orERawy I o~
e

[ P.T.O.
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40 Who formed a women’s regiment in the Indian National Army in 1943? Ll
(A)  Jawaharlal Nehru (B) Subh.z.is%l ISh.Zn 0s
(C©) Mahatma Gandhi (D) Sarojini Naidu
(E)  Question not attempted

1943 % sfea Jerer st & wfver Wz H v fray i o

(A)  ETEE YEw ®) FIEREE
(C)  weren et (D) @I ATy
(B) rgaf@uy -
41 ‘In Memoriam’ painting was painted by whom in 1859?
(A)  George Paton (B) JoneKersia
(C)  Jone Borkar (D)  Joseph Noel Paton

(E)  Question not attempted

1859 % ﬁﬁq‘tﬁmmﬁﬁm%ﬁmmﬂéﬁ?

(A) Si¥eF - (B) VHwRME
© SRR (D) R YT
(B) orgafawy

42 The Mudaliar Commission was setup in 1952 to: (Choose the most a

ppropriate options from below)
(A)  Examine the condition of the secondary education system.
(B)  Formulation an industrial policy for an independent India.
(©)  Study the allocation of resources between the centre and the states.

(D)  Study the demand for the re-organisation of states based on basic principles on liguistic basis.
(E)  Question not attempted

1952 & aferam ST ot T o6y 1 oft: (R 3 & werdy sgres feraea )

() et Rre yoret i Refy 6 it & forg

(B) Tt Wi o for fenfives fiftr dam e & Ry

(©) %= 3T ¥ v st 3 oAt B sreE G R

(D) w%wmuﬁ%wﬁwﬁmmmw@ﬁ@ﬁ%wmmw%ml
(B) rgaf@us

43 Rajaji Tiger Reserve is located in which of the following states?

(A)  Uttar Pradesh : (B) Madhya Pradesh
(C)  Uttarakhand : (D)  Rajasthan

(E)  Question not attempted '

Frefafea # & 31 & Toa § T e o fem 29

(A) STww , (B) wEwRY

© SwEs (D) TEw

(B) gaRawy

44  Sariska National Park is mainly famous for? (Choose the most appropriate option from below)
(A) Indian Leopards

(B)  Siberian Crane
(C)  Royal Bengal Tiger (D)  Asiatic Lion
(E) = Question not attempted

TRt FT U T fveds R vt &7 (e @ ey

Wﬁmg})
&) TR (B) WA 3t
(C) T s SE ‘ (D) W
() orgara A
A17]E3 i 19




Which of the following statement is not correct about dry teak forests of Rajasthan? (Choose the most appropriate

option from below) ™

(A) Generally the heY%t of the trees range between 9 to 13 meters 9
[ “l :

(B) Teak wood is Commercially useful and used for making furnitures, panels MOOTS, windows and house

construction ) m
(C)  These forests are located in the southern and south-eastern parts of state <y
(D) In these areas, annual rainfall varies from 150-200 cms. o

(E)  Question not attergpted
Wﬁammwm%a@m\n%mammamﬁmﬂwm@

(A) W g S 9. 13 et a2

®) m&mmmam%@mmmmmﬁmm@mmﬁ

A ) (48]
© AT, Toa SRt v aftoruelf Rt # R & 8
@) o & i antafy 150%200@%%%% ™
®) smeRasa ) o
Which of the followngl’;%oes not correspond to an audio file’s valid extension? o
ﬁnﬁrﬁaﬁﬁ%aﬁqq@ﬁﬁrw%éﬂm%w &7 e~
(A) .rar v (B) .mp3 e
(C) .mid i D) .wav
(E) Question not attempted / 313?1'&?{ o
Convert (101110), = (%)} ) ?ﬁ'
{base 2to base 8} €.} . gg
(101110), = (2)g ?g o
{3TTUR 2 & 3TN 8} &3 , L
@) (30), e ®)  (0) ™~

% f““@

©) (56), ¥ D) (48)
(E)  Question not attempted / TR
Which of the following is not a type of the printer? (Choose the most appropriate op&i?x’l from below)

(A)  Laserjet Printér ! ~ (® 3D-Printer P
(C) Inkjet Printer % (D) Dot Solid Printer 0
(E)  Question not attenpted )
ﬁmﬁff‘@aﬁ%aﬂ?wﬁa@ﬁﬂq‘ﬁ%? (ﬁﬁﬁ%wﬁmﬁmgﬁ) &
(a) TR fX (Ia‘bex]et Printer) ®) 33fix >
(©) ¥oore X g% (D) maﬁ%ﬁ:ﬁa I~
(E) W&Hw ‘ v
. Mantha river merges in whlch of the following lakes of Rajasthan?
(A) Anasagar lake (B) Sambhar lake
(C)  Picholalake (¥} (D)  Didwana lake o,
-
(E)  Question not 4ttémpted 0
ﬁw%ﬁaﬁ%mn%’tmsﬁaﬁwqﬂﬁmﬁmﬁ%? o
(A) e’} (B) whwsle O
© Reersie Q (D) reamrsie
® smraws & O
i~ e
v [P.T.O.
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Which of the following statément is not correct about th

(A)

Winds are dry due to their terrestrial origin impactin

(B)

(C) A highly developed pressure centre to their north of
D)

(E)  Question not attempted

PrferRaa i & 2 s, T S Rt e 3w i e T 22

i ?
¢ winter monsoon of Rajasthan?

: : lones.
P with mediterranean cyC
In this period some winds bring rain after coming into contact wit

i i essure are causing rainfall.
Winds start blowing from occanic high pressure arca to terrestrial low pr

e S

g rainfall.

the Himalayas impacts rainfall in winter.

(A) et Seafiy & wHrer gard yw aeht &, R ant wnfr gt 21
B) 7o ae ¥ o wand sprerai S 3 e i o 6 a At ard

©)  frorera & s i s sreafir Rl g s wfiddl § aaf @y sfera e )

(D) W 3= 2o & A vt et gy &t ot o gad <rer @l €, fored anfar gt 21
(E) Sgaiaws

Jantar Mantars are located in these two cities - (Choose the most appropriate option from below)
(A) Jaipurand Agra (B) Mathura and Jodhpur

(C)  Jaipur and Delhi (D) Delhi and Gwalior

(E)  Question not attempted

T 2 et i s s e - (P e s e )

(A) AR I - (B) WU U

(C) AR et (D) et od mnferr

(E) SIaia ™

Who among the following is not included in the corhmitte

National Human Rights Commission?

(A)  The Speaker of Lok Sabha (B)
(C)  The Prime Minister (D)
(E)  Question not attempted

¢ constituted for the appointment of chairperson of tt

Leader of the opposition in Lok Sabha
The Chief Justice of India

ﬁ%aﬁ%ﬁ@m@mn%%mﬁﬁgﬁxﬁ%%uﬁa%ﬁ%@

(A) TIEHEYT & e (B) e i fraer 3 Sy
Q) oy (D) W 3 e =
(E) wgafagg
The State Information Commission submits its annual report to the-
(A) State Government (B)  State Legislature
(©)  Govemor (D) High Court of the state
(E)  Question not attempted
RUEC RS saran A9t anfdes foid famen WELA T R?
(A TS (B) sy Ryrmuea
Q) =TT (D) U & Jq =imaeTy
(B) af@ud
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Con51d.er the.followmg statements regarding delimitation commission in India and choose the correct answer from
the options given below:

statement (I): Delimitation Commission Acts have been enacted in 1952, 1962, 1971 and 2002 for fixing limits or
boundaries of territorial constituencies.

Statement (II): Its orders cannot be challenged in a court of law.

In light of the above statements,choosc the most appropriate answer from the options given below.

(A) Statement (I) is true but Statement (1) is false.

(B) Statement (I) is false but Statement (11) is true.

(C)  Both Statement (I) and Statement (II) are true.

(D) Both Statement (I) and Statement (1) arc false.

(E) Question not attempted

et 3 el ST 35 it ¥, PR e w Rre s gy R R g et i & w3 A T A
oA (1): TRETEA TR FT 1952,1962,1971 31 2002 # wfar i ey an St forerrer <y e frifa 01
3 fore v o ' |

wUT (11): T T AT F T T < S Hehell 21

SR FUAT & T 8, 2 e e faenedt § & waferew sugw s T

(A) W(l)w%éﬁr—rm(n)w%l . (B) T (1) T & SRR e (1) T 8
(C) A (1) A (1) THT & T B (D) e (I) 3 e (1) 2T & 7T &
(E) IaRauH

Who among the following does not come within the jurisdiction of Lokayukta in Rajasthan?

(A) Members of services established by the act of Ruajasthan State

(B) Zila Pramukh '

(C) Ministers

(D) The Chief Minister

(E)  Question not attempted

Erafiad § & I TR F THETh & AR g A ad @

(A)  TISTEI TS 3 i ST T Sl o §ae ®B) FrryE

() = (D) TEEEEr

(E) gl ud

Given below are two statements:

Statement (I): The British announced just before India gained independence that the British Crown’s Supreme
authority over princely states would not obligate upon the end of their authority.

Statement (II): The British government took the view that all these states were free to join either India or Pakistan
or remain independent if they so wished.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Statement (I) is correct but Statement (IT) is incorrect.

(B)  Statement (I) is incorrect but Statement (1) is correct.

(C)  Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

e (I): WA F1 T d g 96, SIS T BT I8 ST o 7T off foh ST Tt Sk TSt & T B O Goarey o
s ;‘ag;mr I fo wrarg qaR

U (I1): S T 1 FE AT AT a1t wsf a i .
R e A i e € smd A R s e
I A 3 TR i, i) R T Fareedt i & wartfere Iuge sl

(A) U (1) GE & A e (11) 7Terd 8 (B) @A (I) T & QAR

(D wEr
(C) = (I) 3R e (11) ST TEt 8 (D) @A () 3R i ;
s - (1) AN (11) AT A e §)

[ P.T.O.



57 Given below are two statements:
ng various eras.
Statement (I): Bairath is situated in Jaipur district. It has been a very developed place during ] e ‘
amra
Statement:(IT): It was the capital of Matsya Region during the Mahabharata period’Stone plaques of s shoka B
(-

S’

period hate also been found. bei
w.
In light of:th above statements, choose the most appropriate answer from the OP“‘;"S given belo

-y

(A) Statement (I) is correct but Statement (II) i is incorrect. -
B) Stwent (D) is incorrect but Statement (II) is correct. ;
© BoglLStatement (I) and Statement (II) are correct.

(D) Both-Statement (I) and Statement (II) are incorrect. w4
(E)  Question not attempted

:ﬁ%ﬁaa‘agi)?nnq%: €3
e (): A3, S et 3 Rera 1 a1 fefirer i 35 et o g @ R e 31

HUT (I)ETE HETRA I % S HeeT 85 i TSIt oM THTE 3720k 3 <hiet <hl et afgepTd +ft @t firedt &
IR o1 B aTTeien &, 13 R e et § & wraffires suges sot il 4,
) m@maﬁr%ﬁ?ﬁrwm)m% ®) W(nm%aﬁqm(n)%"r%l
©). f)(l) SRFYT () AT & D) () aﬁtwg(m 3T € TTerd 8l
®) SR ss ’ -
58 In 1453, who seized Mandor from Marwar and married his son Raimal to a princess of Marwar.
(A) Maharana Lakha . (B) Maharana Simbha _
© l\gh'arana Kumbha (D) Maharana Moka}’,{i’;
(E) gtlon not attempted Ef
a1 145%7%aﬁuﬁwmﬁm%mmmmﬁwmmﬁaﬁmﬁm%ﬁmw
(A) TETgem arEr (B) wWERETRERT €3
(C) WEEROTFET ©) wWeRmTHEEa &
(E) mﬁaw 3 ﬁ
59 Which m:r-L'lstry has introduced the Cinematograph (Certification) Rule, 2024‘7
(A) Ministry of Information & Broadcasting (B) Ministry of Law & Justice
©) M{'niftry of Agriculture (D) Ministry of Commeérce and Industry
(E)  Question not attempted (-
Pl & fom varerr g wafes sadt (rmmfiaon fram, 2024 s fr
(A) a{ﬁ?’aﬁtmuﬁm ®) fafraix Wﬁ?gi%
© 3= (D) arforsy @taﬁﬂqiilm
(B 94 s
60  Sierra Leong in April 2024, declared a national emergency on the account of : =4
(A). Floods (B) Political unrest
(C)  Zombie drug abuse (D)  Food shortage
. (B)  ~ Question not attempted {‘5")
3@320@ Pt % & Rrads wwor R fersim it ug‘\wanmmﬁw\wg@név
(A) (B) USfaes Iuya - 3%!3‘3 .
W Mgl D) TwE=H O

©

E) aﬁﬂ ar . 14
\17 ]@ (-l

[ P.T.O.



Given below are two statements:
Statement (I): Kanjar tribe is mostly found in Kota, Bundi, Baran, Jhalawar, Bhilwara, Udaipur, Ajmer and Alwar
areas of Rajasthan.
Statement (II): The head of the family is known as ‘Kotwal in Kanjar tribe.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (II) is incorrect.
(B) Statement (I) is incorrect but Statement (I) is correct.
(C)  Both Statement (I) and Statement (II) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted -
19 3t e few e &:
FUT (I): Wummﬁaﬁwaﬁa &, A, FAETE, siearg, STy, S 3 At T £ -
St 2l
Y (II): FS ST |, TRER % @ 1 Fiqarer” F T & ST w81
IR Fe1 o ATAF H, A<t few 7e frsredi § & waffare suge STl

(A) &Y (I) G2 8 Sfer 97 (1) TTerd 31 (B) YA (I) TeTd & Ak = (1) T 21

(C) =9 (I) 3R FuF (II) SHT AL (D) FUF (I) I FHAF (1) 1 &1 7T 8

(E) i@y

Which of the following district has the lowest female literacy rate in Rajasthan according to ‘Census, 2011°?
(A) Jalore : (B) Barmer

(C) Ganganagar (D) Banswara

(E)  Question not attempted
2011 1 SFTVAT o STTER e 3 & e 3 fora fret & wifear aerar it S0 qed 7 2

(A) SR ‘ (B) N
©) AT (D) Jigarer
(E) FFgaf@ua

Given below are two statements:
Statement (I): Red yellow soils found in parts of Sawai Madhopur, Sirohi, Rajsamand, Udaipur and Bhilwara district.

Statement (IT): Red yellow soil is suitable for the farming of groundnut and cotton.

In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C)  Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

Hra 31 o few o :

T (1): AT et firgh wad sy, e, st seaqy s sierarst firedt & fewdt 3§ ard st &y
FU (1) mmwmammﬁ@m%mmm

I T % et H, S g e el § & waffie 3egw swol

(A) e (1) Weft & AfereT B (1) e ) (B) & (1) Terd & AR e (1) wet
(©) = (1) 3R e (1) T & € (D) e (1) 3R e (11) ST e rerer &)

(E) ergafayg ; ]
1 .
I3 15 [ P.T.O.



. >
i -linear manner:
tructure is used to store a group of clements in a non

64  Whattype of datas = i
o i (D) Tree ™M
QC) Queue | - :
O{}g)  Question not attempte : : = ,
ifgsfg@ﬁaﬂﬁrﬁaaﬁaw%w%mﬁmwﬁaﬁjm% mﬁaﬂgﬂ
E"%g b ) @ o
T a@ﬂf&r& s =

W ific te ter bypuser?

65 ¥“What is the name of the software used to perform specific tasks on c;f)mtl?:ncso f?g;v e

(A) Artificial Intelligence . (B) Apphicatt war

W) Operating system (D)  Utility software

C1BE) Question not attempted

memmmgmﬁwﬁamaﬁmﬁﬁﬁmgﬁémmaﬁmﬁ@%mwwm%?

a) st RReE (B) Q‘?ﬂ%ﬁ‘«’ﬁvma“_ <
Clo) ik fwew @) Frefad m‘*za*“m: :
. Q) gERawN - o)
66 . Which of the following is an Azonal Soil group? i o
"—iA) Lithosols soils , © (B) Tundra soil —
(C) |Lateritesoil SN ) Podzols soil -}
m(E) Question not attempted . :
e § & i o ST e g 7 :
0O@A) S gar B) TN ™
©) e g o g O
(E) FRE T Q
67 ¢ Which of the following is a fresh water lake? M
: {~(A) Didwana . (B) Pachpadra &
\ v4{(C) Sambhar (D) Udai Sagar o
i} (E) Questioh not attempted S "l
Frerferfia 7 & i ¢ i ar B 3frer 27 v
n a) feearm (B) SIS
Qe = @) TR
. OQE) ogat@ad ™M
; 68 (g{hangc the dircct. speech into indirect speech by selecting the most apprggriat;%ﬁgn :
a e said, ‘I qx'n ql{nte a g.oqd fook and I do all my own washing and mending too
’ ~ A) He sax.d that he is qu!tc a good cook and he does all his own washing an@ending too.
(B).  He said that he is quite a good cook and he did all his own washing and mignding too
| v{C) He ‘said that he was quite a good cook and he did all his own washing a %\end?ng tc.yo
(D)  He informed that he is quite a good cook and he can do all his own wa;‘ ;

i i\ }E .
E)  Question not attempted ng and mending too.

ich of the following is not a procedural language?
A) Pascal

69

(B) PROLOG

C) FORTRAN ™)
E)  Question not attempted (D) cCoBOL o
oh 'iéli@i’lﬁ‘@t‘q’ﬁqmw gﬁ,‘qmq—g—f%? foe)
=(A) e ] P
[’“-wc) Ratcnt (B) =T Pt \
E) NELEE D) : ﬁa’m : st
A17 ]@ : 16, ‘_l:
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1

/:Xo v 5;%’%“‘%9*“ 9

The starting point of Indira Gandhi Canal is in the state of:

(A) 'Rajasghagn (B) Uttar Pradcsh‘,;? )
(©) Haryana (D)  Punjab 9
(E)  Questioh not attempted “"
sfe mieh Tt sy Wi foig v T i &2 158
(A)  TSEATLD (B) IWWRA Y
© hemii (D) e &
(E) aqgaﬁaw e
The Jawahar‘HSuflsgar Dam is on which of the following rivers? v~
(A) Bandi (B)  Chambal
(C)  Satluj¥ - (D) Sabarmati v}
(E)  Question not attempted : 3
SRR AR s R 3 @ for Tl o0
(A) =i & g’z ‘ (B) & ™
©) WL (D) @ g
(E) SERds fa
Choose the niost appropriate passive fom of the given sentence. ?‘4
I don’t like people telling me what to_do.
@A) 1 Elon’t like what to do by the people.
B) I dong?ﬁke being told what to do by people. 3
(C) Idon Tﬁke being told by the people what not to do. C:"
(D) Peopé%%re being telling me which I don’t like %
(E) Ques&i_gg not attempted 3
Choose the most appropriate passive form of the given sentence: ' &
I didn’t realise<that somebody was recording our conversation. [~
(A) 1didn’tfealise that our conversation was being recorded. ?“;
(B)  Our conversation was being recorded by somebody.
(C) . Our convzrsatlon was being recorded and it wasn t realised.
(D) Somegc:idy was recording our conversation was not realised. 48]
(E) Quesg;% not attempted O
Identify the w‘pfrd that can best substitute the given expression: oo
A state of W?LB' or general unhappiness. . M
(A)  Dystiophy (B) Dystopia &7
(©) Dyxpraggla (D) - Dysphoria ©
(E) Quesyox‘n not attempted 2‘:’
Find the missing number (?) from the given alternatives, B
ﬁﬁqwﬁwﬁﬁﬁm W%ﬁﬂﬁ@tmwﬁl
~ z ' ; )
199
f:‘:) | ™
46 - (B) 64 &
(C) 50 7 (D) 48 (o
(E) Ques%»‘-’—“; not attempted / STTART w1 : [
|

7)1 T

[P.T.O.
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78

79

» and K means “ =+’ then
— v K ot ¢+ AT R, T - 1

If Q means “ + **, J means “ x *°, T means “ —
aﬁermfw" J Tt eox T o ¢
s T

(A) 38 B) 28
© 103 (D) 35

(E)  Question not attempted / Na?fﬂﬁ b
SHRESHTA Scheme launched by the Ministry of Social Justice and Empowerment is associated with

P o e

(A)  Armmy Personnel (B) ' Tribes

(©) - Students (D)  Farmers

(E)  Question not attempted ‘

SIS = A AR Siera G/ 17 A8 (SHRESHTA) et A arg 2
(A) I Ffifw (B) SR

(C) B : (D) Framt

() SrguRaww

Which of the following is the first state in India, that has made rainwater harvesting structure compulsory to all
the houses?

(A)  Tamil Nadu : (B) Odisha

(C) Rajasthan (D) Gujarat

(E)  Question not attempted

Freaferae & e i e ey 8, o o et st et e o e R 2

(A) dfierrg : (B) 3hfemm
(C) TsEH (D) T
(E) gaiays

When did the Simon Commission arrive in India?

STRA & |IZHA T 9 37T

(A) 1930 (B) 1932
(C) 1925 (D) 1928

(E)  Question not attempted / 313?11‘(3 B

Which fair of Rajasthan is called the ‘Kumbh of the Tribals’?

(A)  Sheetla Mata fair (B)  Kapil Muni fair
(C) Beneshwar fair (D)  Kami Mata fair
(E)  Question not attempted

TSTEAT 1 F13-31 Hll el Sl i v et 87

(A)  fiaer grar #ar (B)  wfver iy Aam
(C) avrg fan (D)  =uft W e

(E) HA{ulEayy

During whose reign, a folk drama ‘Tamasha’ started? (Choose the most appropriate optlon from below)
(A)  Maharaja Maan Singh (B)  Maharaja Jai Singh

(C)  Maharaja Pratap Singh (D) Maharaja Sawai Singh

(E) Question not attempted

FrgferRad # @ foheeh smeeprer i “qumam mmm{[ﬁﬁmmzcﬁwfmwﬁmﬁm@)

@A) qgnmﬂﬁﬁﬁ_ (B) BRI 5 fig

©) T YA 8 (D) WERTST s fifg
arara 14

E 3

(E) el

123



r

jn which fort Kishori Mahal, Mahal Khas, Kothi khas, Jawahar Burj and Fateh Burj located?

f (A) Jaigarh fort Jp (B)  Junagarh fort ()
(c) Lohagarh f°“?‘i;§ (D)  Jalore fort 3
B Question not attempted 3
fe ot 3 PRIy e, e e, ), st et ot e s fera €7 )
m
(a) T fa ¢ ‘ B)  SpIwTE fRe -
©) e forer {L y (D) SiTei frer )
(E) aqgaﬁaw i
s AGENDA’ﬁﬂ%@HﬁﬁWNYfﬁH’gEEﬁﬁmW%? ¥
(a) (B) & €yt
© wEH - (D) FHRigd 3
(E) ERANH v} >
g TSt ST, RIS 3 7o b ey o e g &0
(A) A S BT (B) dwEHEET a
© smREEr ) (D) EFIE A s
€ wRawm L2 ‘ e
5 m%mmﬁaﬁ%ﬁw%ﬁaﬁq&mm%mmﬁiﬂméﬁ%
&) sl L _ . (B). IIER363 4
©) 313’%3243 e (D) ITRI351
(E) IFgaia x : 2o
6 ﬁ%a}mﬁqnqﬁﬁ g ::‘;
FUT-1: Wﬁﬁaﬁqﬁmﬁﬁaﬁ?ﬁ%l {“{s
FuT-10 : maﬁ?maﬂtawﬂaﬁﬁﬁﬁa%mwwmél oy
mm%mﬁmﬁWﬁ%wﬁﬁmmwaﬁ ‘f
(A) FFAITILfFgFEIITTT (B) e I 3w R, e o 1 HT 21
©€) FAIFARMEH T (D) mlaﬁtnaﬁrmi‘lg X
(E) IERa " ii'”""‘* : JSE

7" Given below are twé “Statements: il
Statement (I): The year 1947 was a year of unprecedented violence and trauma of displacement for India.
Statement (I): India was born in very difficult circumstances in 1947. Perhaps no other count:y had faced a situation

more difficult than thaLof India. . D

In light of the above ements, choose the most appropriate answer from the options gwEn'Lelow
(A)  Statement (I) i f “correct but Statement (II) is incorrect. (‘j 3

(B)  Statement (I) isncorrect but Statement (1) is correct, k::..’r f
(©)  Both Statement () and Statement (II) are correct, 2

(D)  Both Statement () and Statement (II) are incorrect. =

(E)  Question not z;mgmptcd L |

#fr 2 o fg o #:

FUT (1): WA F fery 1947waﬁwﬁtéﬁmaﬂtﬁwﬁaﬁnaﬁa@mmﬁw§wm

HUT (11): 1947ﬁqﬁ%mmﬁmmﬁﬁﬁ§mwwﬁawxﬂmwm{
mqiﬁgm-amammﬁsw il (f:m et wiRerfrt &
mm&mxmmﬁwaammmﬁ o
() e (1y e 3 ifert o (1) e B (B) & (1) et & Aty .
For (1) e

©) = () af (ll)a‘rﬁaﬁﬁl (D

Al () mﬂﬂ&awa@ ) W(I)WW(ll)aﬁ:ﬁg}mgl

I M 19 ,,_,,,g

[P.T.0,
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m?
Which of the following state was carved out of Assa Sikkim

(B)
© v
ripura

(E)  Question not attempted o7
AR R I T R ——— -

(B)
(A Uﬁlgt (D) LIN R
© fagy

(B)  Sgafawy d left and walked for 12 km to reach hls
Ajay left his office and walked towards East for 5 km, and turne

t for 5 km and then turned lef and: ]
Rakesh who works in same office, left the office and walked towards Wes ‘

for 12 km to reach his home,

What is the shortest distance between home of Ajay and Rakesh?

(A) 24 km i (B) 17km

(©)  34km (D) 26km :
uestion not attempted

gﬁiwwaﬁﬁaiﬁrqﬁﬁmﬁ 5 el e, ot e o e s e oot o g 6 R 12 oty

a‘rs%ﬁwmfazrﬁmm%, #mmﬁﬁaaﬁrtﬁ’mﬁmﬁ 5 fereft e ﬁtﬁta‘s'irrs‘ﬁmﬁga

0p,

£

—

(A) Between S and T
(C)  Between Qand S (D)
(E) " Question not attempted

P,Q. R, S 3R THg W%%}ﬁt%g@maﬁm-@l P.Q Femiga %m?ﬁm
T ST & A fift g gy R 3T 8 28 T 3 p, Q st T 4 : R SHFamdary g1

(B) Between R and T

" Between QandR

' £
2129 ? PWR@W%%PW%%J
Sl ik Pl Qi 3y sy LY
(E)  qafmuy £ , ;
The reaction between an acid and a base jg called:
(A)  Addition reaction B) Dicc . .
© Neutralization reaction (D) C":Z;)Cl'ﬂtlon feaction
(E)  Question not attempted e reaction
O ST ST 410 3 offer aqfrfpa HEAT 2
(A) e, syfyfapar

C) T s g R Sty
E)‘ _-'éﬁﬁﬂaw o T
Rl
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|95

96

97

‘, A17 ]@

ich of the followi _—
Wh. owing-cvents is not related to phenomenon of Refraction of light? (Choose the most appropriate
option from below)

(A)  Blue colour of the clear sky

(B)  Formation of image by a lens

(C)  The coin kept at bottom of a pot containing water appears raised
(D)  Appearance of Sun before Sun rising and after sunset

(E)  Question not attempted

A & i N Wl e e rvad A watfora gt &2 (R it & wanit 3w frrer <)
(A)  TIE FTH & A br

B) & A g il w fmfor @

(©) TR USRI & et W v Ryt 3t 331 gt el g 1 —
(D) I & TE AN gt % s g o1 R

® oA

What will come in place of question mark in the following sentence?

qﬁiﬁ’}vﬁﬁwﬁ%%mwwm

MOUSE : KPSTC : : LIGHT : _ 2

(A) MGHFV ‘~ (B) JGEFR
(C) MIJHIV (D) JJEIR

(E)  Question not'attempted / N@Hﬁﬁ a9 _

How many genotypes of the human ABO blood group are possible?

T ABO SRR a1 & fohaw s w&y (SfiH1ersy) ova 82

Aa) 3 v B) 8

© 4 D) 6

(E)  Question not attempted / 3TTANT F&T

A pen is placed between two plane mirrors which are at right angle to each other. The number of images formed of

pen are:
aﬁ@gﬁ%mmz&m%aﬁa@ﬁq@r@rw%hﬁﬁﬁhuﬁﬁﬁﬁm%
A 3 B) 5
<) 4 D 2

(E)  Question not attempted / Frgaid 94
The multi channel TV programs can be seen directly at home through satellite by using a *Dish antenna’ without any

cable connection : (Choose the most appropriate option from below)

for fom forelt Srerer-aFagr &, TR, fier dfem o1 W T, IUME FI HIGT TG FRE 2

agaAclt A1, FFH, ‘
(Pt 3 & T 3ugeh faded ).
(A) C-DOT (B) CDMA
(C) .DNS (D) DTH

(E)  Question not attempted / syt 94

If any object is thrown upwards with velocity more .lllan 11.2 km/s from earth then the object will:

(B)  Revolve around the Moon

(A) Return to Earth
(D)  Revolve around the Earth

(C) Go into space

(E)  Question not attempted
W%(ﬁiﬂﬁiﬁf 11.2 ansﬁNﬁTd?fmﬁq'@gg,EE@ 31T aﬂﬂiﬂmﬁ,?ﬁa@
(A)  get quafem s s (B) W1 & 9 SCaaER e
() iafee i sl st (D) et & =i i s e
(B) orgaRawd

21 [ P.T.O.
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W) W) AT 0] (@) (B @) @ @ Y A T=lE T

98  Where is Fullerenc used? aring of jewellery

In manufact

v ’ﬁz"’""“’“ﬁ‘m

(A)  In cutting rocks and stoncs (B) king, clectrodes 2
(C)  In purificationofinatural gas (D) Inma €
(E)  Question not attempted o0
T ITAT w6l e X7 = o

?ﬁmmmmﬁ@mﬁ ®) mﬁﬁ;:ﬂ;ﬁ Y,
© s s di it (D) TS P
(E) w O . . f

99 Cis thmr of A Lﬁd B. If D is the husband of B, then what is the relation of C wnh;?;?
(A) Mother v ’ (B) Mother-in-law
(C) Sister (D) Aunt Ny
(E)  Question not ensmpted {P
C, AR BRI a7k D, BH1afr &t c 1 DY Heiw 22 g -
(a) =t (Ve ' (B). §W
© == ™M (D) /=Tt A
(E) gafawy O E '

@ In certain code “FROZEN” is written as “OFAPSG”. Then, how would “MOLTEN” be'written in that code?

~ el v “FROZEN" #1 “OFAPSG” forar e 31 v et gz e & “MOLTEN" %} &% ferar s
(A) OFUPMN ' 9 (B) OFPUMN FRoZEMN
(C) OFUMPN (D) OFUPNM oFRAPSU
(E)  Question not Qt_tempted / 313?&?{ 99 (22

Read the passage and answer the questions that follow: (Que No: 101 to 104)

The end of human endeayo@"rj:is happiness and contentme/n’t. The advancement of science haginot been able to bring them
about. On the other hand, it lﬁ’s'}made our live§ complex and crooked. We can see with alarm the'linending war which science
is waging against l_igraturq@ art. The realm of poetry is being cc;nquered day by day. The
at the cold touch of sci'cncc.,%at a solace was there in thinking of the s_ilently“shining stars,
What comfort is now left t'o"the average man to know that the stars are b
Wordsworth, at the sight of '\ﬂl‘”xch his heart leapt up with joy,
dull fact remains.

aSthing charms of Nature iy

ars, thEblessed candles of the night!

ut so many buring suns and the rainbow of

a prism of colours! The cheer afd the charm are gone and the

‘Science’, observes G.B. S ), ‘never solves a problem without creating ten more.’ But art an iterature are th lves the
_ ] are themse

tho § Ng cataracts of Wordsy rth, the Skylark of Shelley
aninspiration to the discouraged, su

solution to all our problems.-All our worries leave us amid the Soundi
and the Nightingale of Keat{ﬂ'hey are arest to the weary,

best antidote for trouble, ) jne o the sad, and Naturc3
101 The cheer and the chgg,n of all humans are gone because: m
(A)  Nature is the best antidote for trouble ‘ O
(B)  Science fails [5bring them satisfaction as it has robbed nature of its che C_:’
(©)  Science solvesall problems o
(D)  People don't enjoy Wordsworth, Shelley, and Keats i
(E) , Question not attempted '
102 Identify most incorréct'option from the following; ™
Art and literature heli3 us: (»)
(A) tq prevent oyrselves from troyble, (B)  to make materia]
©) solve all ogr-problems. ©) "o givg - tcrlu .pf’ogr in life,
€ Question not attempted 0 the “redﬁggi bored,
- 22 © |

aTIB

v I~
- 4




103

104

106 -

107

108

The most appropriate meaning of the word ‘solace’ is:

(A)  Contentment (B)  Comfort in distress
(C) Effort (D) Realm

(E)  Question not attempted

Match List-I with List-I1:

List-1 List-11
Words Synonyms
a, Endcavour L Dishonest
b. Crooked L Anything that prevcnts
Cataracts III.  Effort
d. Antidote IV.  Water that falls
Choose the most appropriate answer from the options given below:
(A) a-IV,b-Lc-III,d-1II (B) a-1V,b-Ill,c-1,d-1I
(©) a-ILb-I,c-1I,d-IV : (D) a-ILb-Ic-IV,d-II

(E)  Question not attempted

Red panda is main fauna of which of the following biosphere reserves? .

(A) - Dibru-Dibang (B)  Gulf of Mannar
(C) Nanda Devi (D) Nokrek

(E)  Question not attempted

T e, frafafaa #§ & fora wfina sfamvee # ag 7

(A) feg-feamm (B) w=RFH @t

(C) F=reEr (D)

(E) SAmia@yd

The Punchhi Commission (2010) is associated with which of the following?

(A) Reforms in Education (B) Tax Reforms

(C) Center State Relations (D) Abolition of Death Penalty

(E) Question not attempted

42t A (2010) FrEfofaa # & e wefia &2

(A) PBrEndgar (B) WEUR

(C) FZETHEY (D) HIIUE I"EH

() 3mefasa )

Who among the following was the first woman Deputy Chief Minister of Rajasthan?
(A) Kamla Beniwal (B) Vasundhara Raje

(C) Diya Kumari (D)  Pratibha Patil

(E)  Question not attempted

frfafaa § 4 %14, Wﬁﬁwn%mmgmam

(a) FFA AT (B) aguUT
© farg=l . (D) wfenafRa
(B) HuiETA

How many MPs are nominated in Rajya Sabha by the President of India?
a3 Tegafd 510 TS /T 4 faraa wawdi (Mp) & s faman stran 22

A 18 (B) 10

© 12 D) 6

(E) Question not attempted / Wiﬂfiﬁ sy

A17 153 23




i,
ak. This Phenof il
her member spea m 10n

stop speaking and let anot y

109 The speaker can asw'mcmbcr of the House to

’ ‘ ™M

L:own lnst o (- B) yiclding the floor (o)
(A)  Interpellatiopyy Crosssing the floor 0 !
(€)  Decorum ) P l 3

) I
(E)  Question notfttempted _iqﬁ Fukzen T Sy
@wwmwﬁnﬁ@maﬁm%ﬂmmﬁaﬁtwmﬁmﬁ‘ e ui?”.)

(A e el ' ) e g:: [~ .
© water Qay ! (D) RIS v
() guRaww i J by Rajasthan Government for farmer;{
110 Which of the followiig is the name of a mobile application launched by .t i
(A)  Rajasthan Fdatmers App (B)  Raj Kisan Jm.wk . g A
(C)  Farmers Orghtit App (D) Kisan Organic App o0 '
(E)  Question notﬁ '}cmptcd m?
P 3 @ Rt S R TSTET e T SR f3re g ATt Qeflaher 1 A pil
J fopar Sferen T
(A) T HHERY B W o
(©) e nifmE D) RERSRET
(B) gaRaw v
111  When was the ﬁrs(;Y g.gn'culture Budget presented in Rajasthan separately? (Choose the most appropriate optiog
from below) - ;
WﬁﬁM%WW%WMW (P 1 @ e Su freke ) 2
(A) 202223 ¢y (B) 2023-24 0
(€©) 202021 . (D) 2021-22 ™M
(E) Question n&-a\tempted / Nﬂﬂ'ﬂﬁ B o 2
112 isa mexgj'?' used to store data temporarily, whereas stores data @manently, win
altered or deleted. ; o=
(A)  Compiler, ROM (B)  RAM, Operating systeﬁ.
(C) RAM;ROMeyy (D) ROM;RAM

(E) Question not,el}empted i

o T @ e s SRSt Y v w9 § T -
%mm%mﬁmmﬁ,a}%qﬂaﬁamm;amm? Ww%%‘_

(A)  FwTEerR, ) (B) W, iR Q0
(C) ‘mim - (D) qu\'q ™
€) wrafagm O ' -
113 Hardware that is us&ﬂo provide information, data and to control signqg O
called - (Choose the most appropriate option from below) toa computewstem from
(2) gcyboard &"Myuse B)  TFT Mopiy
©) utpu.t Deyigery (D) Secong or
(E) + Question notffiempted Ndary Smmge DeYiPi

P T5f w0 e g foraam 3T ared afyr
m%,ﬂmmﬁammﬁ%)-m‘mm.ww O

© TEET ®) aamﬁ' AR
E) aﬁ“ﬁ“w Wl e ©

A171§3 o ’ = 2
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116

The height of banana tree and lemon tree is same. Mango tree is shorter than plum tree. Guava tree is smaller than

mango tree but blggf_f, than banana tree. Find out which is the tallest tree?

("
(A) Plumtree ¢y ‘ (B)  Mango tree ("}
(C) Lemon tree(¥) (D)  Guava tree o0
(E) Question n@lcmptcd ()

ﬁ“ﬁ‘ﬁ‘@“ﬁ'%m?lmmﬁ%@?ﬁg@%ﬁsﬂm%lmm&gﬁmwum?mﬁ%ﬁ;
& T R A et Y 3 @ e Ay <

(A) N@@TUEFT% 3“"“{3) A F U vl
© Hgwdg P> D) smerEds

E) agvhawm

4]
Given statements tage true even if they seem to be at variance from commonly kn?wn facts , then decide which

conclusion would fo{lbw on the basis of given statements. 00
Statement : No ngn‘ber is a digit. ' )
All dfézt are fractions. :g
Somg‘,ﬁiactions are integers. r,’_*
Conclusion : 1. All fractions can never be numbers. ‘ vl

I1. Some integers are definitely not numbers.

In light of the abotjtatements choose the most appropriate answer from the options %ven below.

(A)  Both conclysion I and II follows B) Neither conclusion I aegglor I folIow
(C) Only conclfi¥idn I follows (D) . Only conclusion II follotys
(E)  Question n&;’ttempted : ' 48]
mﬁqﬁmqﬁmm% u@f‘zﬁ%wmm%&wmzﬁ% ?ma:f(%%vfm frerd Re @ =i 1
ATfeheh T & SFTTATLHLT 2l [
U FHE A 30 T 8 ’ LL1E "
e & @R T
F3 T i & ‘ |
Frod: 1 Tt gyt of w8 e N
11 % itk Vifem 9 & deand 7€ & 00
ires e s ST, 3 e e P - e 3 SO
(a) 2l faed B e @) 7 frEmiak wﬁ&ﬁﬁwm%\
() Fad T B (D) e frewd 11 W%ﬂ?ﬂ R

(E) FAaaua ool
If the following words are arranged in the sequence which they occur in the dictionary then which of the word comes

in the r_niddle 7 C?

v
vt gt g s e e R .
Elegtric, Bleglor g, Dcm.wn, Electgode w0
(’Aé Election 6 % (B) * Elector ™
(©) Electric 1 (D), Electrode Q
(E)  Question ngtattempted / 37gufed war ;:)

A17 13 '. 25 v [P.T.O.
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p petween (iii) and (iv) by sel.

117  Figure (i) and (ii) are related in a particular manncr. Establish the same relationshi

a figure.
Which figure would replace the question mark in fig.? & e
T (i) (ii)@@ﬁ@ﬁmaﬁ%wamﬁlm@ﬁ(iii)aﬁt(iv)a?*ammE i ”'m%‘%‘l
1 <1 b it et e (2) 3 et e s

D@ ?

@ G (i) )
@ | ®

(E)  Question not attempted / TR
118  Which of the following option is different from others?
e i & # a Red s e @ HATR? .
(A) (7,56,4)
©) 6,184 :
(E) Queﬁfon not attempted / ST T 49 3
119 Rearrange the unorganised letters given below to create meaningful words and then choose, one of em“ which is

St w
RS

® .39
L}
® 232

different from others ? ) 4
e 91 Y 3 R TR ared o e i aﬁtaﬁgmw&‘iﬁﬁﬁammwaﬁﬁm*
a.  DIAFRY ‘ b, STEUDYA' b
c.  DHAIOLY | 4. ANDMYO .
A) ¢ ® d
© a , D) b
(E)  Question not attempted / ITTTRA FF '
120 Which fort is called ‘Sonar Quila’ or ‘Golden fort’? 4
(B) AmerFort

(A) Jaisalmer fort
(C) Jalore fort
(E) Question not attempted

Wﬁammﬁ‘wm’m‘wm’%mamw@

(D) Gagron fort

(A)  Sae , (B) 3K feem
©) SR fomet . : (D) T Reer
: () Faiayd
121 = Who was the first novel and drama writer of Rajasthani? (Choose the most appropriate option frod elow
(A) Nemi Charan Bhartiya (B)  Devi Charan Bhartiya s

Shiv Kumar Bhartiya D :
(C)“ iv Kumar y (D)  Shiv Chandra Bhartiya
(B) Question not attempted art

maﬂtm%mmaﬁﬂ?(ﬁmﬁﬁwﬁmm %
(a) RS ®) iy
© FAFTCT ©) R v

® I 25!
A171§P ‘
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(22 Allah Jillai Bai, ai?ihous folk artist is well known for: "
(A) Dan-ce . i{:’i (B) Folk Drama (&)
© Kur_]a.smg;m[;% (D) Mand Singing 8 4)
(E) Question not attempted M
sreere fored o, ueb v it e & < 35 Rord st et ©
w ™ & =
P (B) i AH
© FHmE (D) wiETEA s
(E) rgaiaysH i
123 RAwE Ry q:
U - 1 : 575 WHTH o 1 9&T % ot Arorep o 1 v g @ )
e - 11 + R, 3, o, 3 S ST o e e et sy e e s g
SR Rl 35 SATelie o PR ferepedt @ watfares Fuge SECE - @
(€] WIF@%?%WIIW% (B) mlmﬁr%,ﬁrﬂ%@ﬂlm%l
(©) wnﬁtﬁ%ﬁrm%u D) WI@tllaﬁm%l
(®) sgERawE &
124 q‘i%a*raawﬁqnég,, i
wUA-1: ¥ ag%i%mavf%l L
HYT - 11 : 3 Y0 2
S e ¥ ettes i R feredt i & Fatfes Iugw ST - M
A) Wlw;:%?%@wnm%l B) mlm%,ﬁﬁg%nw%l
©) mlaﬂtﬁ%ﬁwél (D) A ISR ‘?’3'
(B) AN S~ o
125 Microsoft Excel’,ﬁ‘grmu‘la beginswith . o
m@ﬁﬁ%@@ﬁﬂﬁj___%@g@ém 2l s
) * v _ ® | v
© - D) =
(E)  Question ragt;attempted IEciich s S ™
126 Whichoneisa sp&adsheet program in MS Office? : o
(A) MS Word{i(53 .(B) MS Excel o0
(C)  MS OutloéK} (D) MS Powerpoint (V)
(E)  Question r‘;(;?attempted (-
ﬁqﬁ%@wm@aﬁm(ms Office) 1 TH TieHie ST 27 © .
(A) wTwETE i (B) WITHTRWA Z
(C) T TH IMEETH (D) T TH Ul WIge
(E) AR
127 Which of the foll§Wing is the theme of ‘Jal Shakti Abhiyan: Catch the Rain, 2023°? (V)
(A)  Sourcesu ainability for drinking water (B) Save our water bodie§-Save our planet.
(C) Save waterr;zg_;;avc Earth. (D) Drinking water for alp0
(E) Question n‘or:fttcmpted ‘
e 12 e v 7, 2023 o P &7 Q
(a) s o e i b i (aeeafafed) (B) TR aﬂm‘{%ﬁ%ﬁm
(), AT A @) whE R FTT
E® 313?1’&?[ 9

A17)33 27 [P.T.O.
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128

131

132

133

134

Who has been appointed as the Advocate General of Rajasthan in February 2024?‘

(A)  Rajesh Kumar Gupta (B)  Rajendra Prasad Gupta
(€©)  Praveer Bhatnagar (D)  N.M. Lodha

(E)  Question not attempted

W 2024 1 R e 3 wenfireret 3 s i Freges v mn 2

(A)  TSRT AR (B) TSt wrE T
(©) Wl weamR (D) U, un, @il

(B)  orfafa wy ,
High Mobility Artillery Rocket System (HIMARS) is developed by which country?
(A)  India (B)  China

(©) Uusa (D) Japan

(E)  Question not attempted

ot et snfédt e R (HIMARS) 31 fRere o 397 grar R mam 22

(A)  ¥ra (B) ==

© Jwu (D) SMUH

() Sryaf@ws

According to IQAir, which city has recently been ranked as the most polluted city globally in 2023?
(A)  New Delhi, India (B) Begusarai, India
(C)  Dhaka, Bangladesh (D)  Pokhara, Nepal

(E)  Question not attempted

Y TN GHIE (1QAr) 3 17T, forer 7 2023 3 rattfiren sefiver wew o1 oot v sy e 2

(A) % foeehl, wma (B)  =TEE, WA

(©) T, SRy (D) e, YT

(E) Sr{afawx

Who was the first Chief of Defence Staff (CDS) in India?

(A)  General Sam Manekshaw ) (B)  General K. M. Cariappa
(C)  General Bipin Rawat (D)  General Anil Chauhan

(E)  Question not attempted
T & oW 1% 3% R w1 (CDS) 7 29

(A) St 9 QYo _ (B) SR . o, e
(C) < fafmuaq D) et et e
(E) afdwy

Choose the most appropriate sequence of articles to complete the followin
Itis pleasure to do ' business with such efficient organization,
(A) &, _, B) a,__,an

(C)  __,aan (D)
(E)  Question not attempted

Choose the most appropriate word to complete the given sentence:

If you a skeleton in the cellar, don’t mention it to anyone,
(A) founded (B)

(C)  will find (D)
(E) 4 Question not attempted

Choose the mosy appropriate meaning of the idiom given below:
His eldest son, a spendthrift, is a thorn in his side.

(A) Having a disease (B)
©) A con.slanl source of annoyance to him (D)
(E) QUCStl‘?“ not attempted

g sentence;

—t sy an

will be ﬁndiug
find

Isin g Painfy] ¢,

nditj
An asset 1on

' 28
Alﬂ@

[R.T.0:




135 Complete the given sentence by choosing the most appropriate response from the options given below:

136

137

138

139

140

He was reprimanded

(A) in

(©) for

(E)  Question not attempted

his teacher for biting his nails.
’ (B) to
(D) by

Which among the following was the major challenge India faced while building a nation state at the time of
independence?

(A)  To establish democracy (B) Low level of Technology

(C) Poverty (D) Resource Constraint

(E)  Question not attempted

AT 35 TRy g T 3 Fertor i sy Prferfan 3 @ R wipe gt a0 e T T8

(A) R Y T (B)  enfieht =1 fret =R
© fd (D) e b e
(B) 3wui@ s )

A mass based organisation MKSS took the initiative in demading records of famine relief work and accounts of
labourers was first raised in which state?

(A) Uttar Pradesh (B) Rajasthan
(C) Bihar (D) Odisha
(E)  Question not attempted

T ST ST S T 26 0 T (MK SS) 1 T8 T STt e v S Al o Wl ohl Him.eh1 Hey Al fo e
T ISTT 7T oT?

(A) SEERA (B) TEIM
(€ frer (D)  sitfesm
(E) sufass

On 6% November 1943, Premier Tojo announced that Japan had decided to hand over some islands to the provisional
Government of Azad Hind. Which islands were those?

(A) Andaman and Nicobar Islands (B) Maldives

(C) Cocolslands (D) Lakshadweep Islands

(E)  Question not attempted .

6 TEFT 1943 T, ST ¥ Asit 3 wiiwor <6, 36 ST ¥ e i st 2w féa i sfafe qewr s d@ie it ot o
NIFTFIFAD

(A) e S FrpEm fa (B) W

(© @I . (D) TERIHY
®)  FTERaw

frefafiaa # gy e 315 &1 U T 76 8-

(A) fesmaEs (B) lelaTrE®
© FgEeE (D) forgarasw
(B) Faiau4

i &R T H 17 ferediom gu e
gqamﬁm%ﬁwwmﬁnf%mw%?

(A) qfgTorEyes fagmor : B)  wrEdfhe e
(C) TorETa ey (D) HegmETEe &y
® . SIIRASH

A17 1A 29 [ P.T.O.
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s

Given below arc two statements: f' 3
Statement (I):{The fusc is placed in parallel with the device in the circuit.
Statement (II): The fuse used in the electric circuit protects the appliance:
through them. (¥} (v |vcn below.
In light of the aboyve statements, choosc the most appropriate answer from the OPt"’mj g

(A)  Statement () is correct but Statement (I1) is incorrect, -

(B)  Statement (1) is incorrect but Statement (II) is correct.

s by allong the flow of high Cumy

e I
&

(C) Both Statement (1) and Statement (IT) are correct. -4
(D) Both Statement (1) and Statement (II) are incorrect.
(E)  Question not attempted

2 A Fw Ry e h
U (1): T, PR 3, Swertor 3w war s d)
FU (1D): ﬁ%’c‘wﬁwﬁ mﬁﬁwmawﬁﬁamﬁmmﬁmﬁﬁmm%'

mm&mﬁ ﬁﬁqmﬁmﬁﬁﬁmﬁmmwgﬁl

& 2
(A) m(l)m% AT TR (1) s (B) M (I) AR, i e (1D T B
©) W(I)aﬁtwanaﬁiwin (D) W(I)a?tm(ll)ﬁﬁmg'
(E) W 9‘% ?:'W«
142 Which of the followmg 1s a physical change? W
(A) stsolutlon of salt in water © (B) Formationofcurd % ¢
(C)  Cooking' of food (D) Ripening of fruit
(E)  Question not attempted A
RreafeRen 3 w1 shfen e 27 - | A
(A) ma;wmﬁm (B) T HTA =
© xﬁtﬂqm (D) A H T oy
() srafay =
143  Match List-I W{tngst-H: *‘:
List-I List-IT i
Cﬂemical Substance Application / Usage ™
a l%lcgching powder L Manufacturing of gla§
b Baking soda I Dental medicalg
c. Washing soda L. Purification of dnnkmg water
d. Plaster of Paris IV.  Antacid Nf
-1 1 g1 g wafera iR o
Tefr-1 w11 .
Tyt ward S )
a  wEfifmOE L #ewfmfy &
b fpEE I < fafrer o
c. @i U Wamggg
d. W= A Ve ST v
Choose the most appropriate answer from the options given below:
12 g are faaedi § @ watfam Jugw SO:
(A) a-1V,BilLc-q1,d-1 M) a.q, b-1v, ¢y (:F)
©) a-LbAlLc-1v,d-11 (D) ﬁ'lll,b.lv.c_l’;\f"
(B)  Questioh ot attempted / siaftd w4 1§ ‘:f‘
144  Choose the m ppropriate English translation of the given sentence: i)
31T S g} HS B L
(A) You armecessaril)j sitting here. (B)  Withgy, any reagop, Q h€ -
(C)  Forno fgasons, YOu sit here, 4 (D) Forng reasons, yo, ¥Oou should not sit b

@ Question bt attemPted

el 30
.A17]@ "

DT

ar &smmg here.

E p.T.0:



Choose the

I most app, late Engpli
[ ’ Ppropriate English word for-

(A Adjudication
(C)  Decision (B)  Authorization

() Question not attempted (0) Aliration

(46 Choose 1hc most appropriate s
(A)  Yours obediently
(€©)  Your's obediently
(E)  Question not attempted

yle of writing the subscription for a formal letter:
: (B)  Yours' obediently
(D) Your obediently

To protect monu 3 ’
W ’l‘ t monuments, places and objects of artistic or historic interests, which are declared 10 be of nationa|

importance 1s included under Constitution of India under- - i 1 ‘

(A)  Fundamental Rights :

(B)  Judical Review

(C)  Directive Principles of State Policy (D) © Fundamental Dutics e

) Qucs}ion not attempted
I, TR S Setmer ot am Qe e s ol A efe i o fer, 7 Tefr s 1 A T 8 7
el w3 Frefifea § ¥ frait aftnfm 8
(A) iferw afmr (B) =t R
© TE A v Rigra (D) TR e
(B) rgai@wsw L
148 Which of the following bank was setup in 1982 by the Government of India, to address the issues of setting up of the
banking institution in the rural arcas?
(A) Central Bank of India .(B) SIDBI
(C) NABARD : (D)  Reserve Bank of India
(E)  Question not attempted
R TR EIT AT gerrent i AT weur R S R % S8 v 1982 ¥ firer §.& form T Hegm =1 9
fora am? e S :
(A) Hger e i s : ®) foreht
(C) qETE [ SO (D) e fierd s
(E) i v '

149 Karewas is .

(A)  Thick deposit of glacial clay (B) A group of trackers
(©)% A folk dance : (D)  Desert soil

(E)  Question not attempted

Eacit) 2l :

(A)  Torrdra ferareht figh o s et () (B) ¥Rl 1 U WYE
(C) whEHTA ‘ (D) vl i

(E) i@ yd
150 Identify the statem '

(A) Bhangar is an old alluvial soil dcpo‘su

(B)  Khadar is a new alluvial soil deposit Ty :

(C)  Tarai is a narrow belt ranging between 8-10 km parallel to the Shiwalik foothills at the break-up of the slope.

(D)  Tarai is a belt consisting of old and new alluvial deposits.

; d )
) Question nol sHeTCC o o f it e S, e e -

.
e
(D) m#ﬁ@mwﬁmm@m
(E 5
A”]@) S S 31

ent which is NOT correct about the Northern Plains of India?

[P.T.O.




